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(1) 2@t (v) YTHOERKICELY v = 10.0 %
(2) B & 98 (m)
at= —— 5 = 1.250
100
m = a1l X SL = 1.250 X 27 = 33.8 N/mf
ko>T m = 33.8 N/mf
(3)KkEAL FH(W/C) m = -18.4 + 27.6 X C/W
W/C = 27.6 + (33.8 + 18.4) X 100 = 52.5 %
W/C = 52.5 %
(4) BprKE (W) WTIEOFEEICELY W = 175 kg/m
(5)HfrE A F&E(C) C =W+ (W/C) X 100 = 175 = 52.5 X 100 = 333 kg/m
Cv= C + %P = 333 +~ 3.04 = 110 L/m
(6) 2855 (A) A = 4.5 % X 1000 = 45 L/md
(7)BMCHEME(G) YUILLoFEFKICEY »EFM = 0.610 m/m ERER = 59.0 %
Gv = 0.610 X 1000 X 59.0 = 100 = 360 L/mt
Glv = Gv X 36.0 % = 130 L/m Gl= GIvXEWEE = 130 X 2.63 = 342 kg/m
G2v = Gv X 40.0 % = 144 L/m G2= G2UXFTHEE = 144 X 2.71 = 390 kg/m
G3v = Gv X 24.0 % = 86 L/ G3= G3vXEWEE = 86 X 2.63 = 226 kg/m
(8) BN HE#M=E(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 690 = 310 L/m
Slv = Sv X 30.0 % = 93 L/m S1= SIvXEWEE = 93 X 2.76 = 257 kg/m
S2v = Sv X 70.0 % = 217 L/m S2= szvxjﬁémﬂ“ = 217 X 2.57 = 558 kg/m
(9) B = (s /a) s/a = Sv = (Gv+Sv) X 100 = 46.3 %
(10) BN iEFn A& (Ad) Ad = C X InZE = 333 X 1.000 % = 3.33 kg/m
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